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For evaluation purposes the following model will be used to determine lowest evaluated cost as noted in 1.24.2 Formula

Pricing Model

File # E 217476

A. Office Clerical

General Office Clerk

48 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =

11 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =

10 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up =  _____________











Subtotal


Secretary


44 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =


10 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =


9 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up =    _____________











Subtotal


Clerk Typist

38 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =


9 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =


8 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up =   _____________











Subtotal









(A) Total =

B.  Custodial

31 ea. X Area 2 hourly rate x 440 hrs. X Area 2 mark-up =

 4 ea. X Area 1 hourly rate x 440 hrs. X Area I mark-up =

 4 ea. X Area 6 hourly rate x 440 hrs. X Area 6 mark-up = ____________










(B) Total =

C. Food Service

19 ea. X Area 2 hourly rate x 408 hrs. X Area 2 mark-up =

 4 ea. X Area 1 hourly rate x 408 hrs. X Area I mark-up =

 9 ea. X Area 6 hourly rate x 408 hrs. X Area 6 mark-up = ____________










(C) Total

D. Trades/Maintenance

Groundskeeper

12 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =

8 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =

2 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up = _____________



Subtotal

Carpenter

12 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =

8 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =

2 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up = _____________



Subtotal

Painter

12 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =

8 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =

2 ca. X Area 6 hourly rate x 480 firs. X Area 6 mark-up = _____________



Subtotal

Helper

12 ea. X Area 2 hourly rate x 480 hrs. X Area 2 mark-up =

8 ea. X Area 1 hourly rate x 480 hrs. X Area 1 mark-up =

2 ea. X Area 6 hourly rate x 480 hrs. X Area 6 mark-up = _____________



Subtotal

                                                                    (D) Total =

                                                         Total A, B, C, D =

Exhibit 8A (revised 10/14/99)


Example 


Financial Evaluation Model








